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And there is no more?! — R2% 1M

Overview

The Xn»72 gives an example of "1 P11 N¥PnA *nNwaA, in a case where two
people dug a 712 and the last one completed it to depth of ten a’row. The XA
then presented some difficulty with this example and resolved it'. Then >27
X7 (and others) asked, are there no other examples of P11 nXpna "nwss.
Our mpoin will discuss the reason X7°7 "1 requires other examples.

mooIn asks:
— 919 29VUNIY XD 19 VN NIV NIINT 213 211 TANN ON)

And if you will say; granted even that there are many more examples of
2111 NXpPra "W, is then the Xin obligated to continue and count them

all, as a peddler is wont to do*? One example of 11 NxpRa *nwaa (by ™ o M2) is
sufficient. Why is X7°7 "7 mentioning that there may be additional cases?!

ND0IN answers:

— N5 NOD 295 IN 2299 K97 PIIND SNPINY 79011 DIVN )Y W
And one can say; the reason we wish to mention additional cases is
because it is an awkward interpretation to establish our mw» not

according to 39 or to assume that we are discussing ‘7nsm as Xpp 21
maintains. Either of these two options is not easily acceptable, when -

— 1P PRYnd )1’ oM
It was possible to establish the rule of P11 n¥pna "nw>n by cases of
damages (and [even] according to *27 [and ¥"137]) as the X113 attempts to point out.

mooin asks an additional question:
— PP1IY HaN NI NNNIY 52N 1 NN XDV 1D XNPPIDI 9INRN ON)

And if you will say; let us establish® the rule of 121 P11 N¥pna "N wai in a
situation where, for instance, the pit did not have sufficient foul air that is

capable of killing, and it did not have sufficient foul air to cause damage.
The 72 in its present situation could do no harm. This is the case where -

" If an animal was damaged in the pit then according to the 1127 only the last one is 21 (according to *21
both are 2>m). If the animal was killed then everyone agrees that only the last one is 2>11.

% A peddler mentions all the wares he has to sell (and keeps repeating them).

? 37 maintains that both diggers are 21 by M12. We do not apply the rule of 111 ngpna *nwai by 1P of
2. It is difficult to accept that °27 who was 7701 the 71wn should argue on the 71wn. Alternately The X773
would prefer that this rule of 1211 n¥pPna *nwa should be ¥"157 XK.

* The expression 1911 93 w3770 191 P11 NXpna *nwon, does not lend it self easily to 0 but rather to PP (as
the X7n3 states later [on the 2"¥] that >3np K7 X90p2).

5 moon asks this question, because the X713 was not able to establish other cases of 111 n¥pna *nwon (by
111 and according to everyone).
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— AN PINNNT 229 NTINIT 7992 0 NN KDY 61‘.7)319 by 91’ 1AM NPNY
The width (of the pit) was greater that its depth; and another person
came and plastered and painted the pit, thereby reducing its width
(making it less than its depth) and making it harmful; in which case %29

admits that the last person who was 7221 70, is liable -
(4,20 971079 199D P92 NI 29 YINTI PPINY P2 NHNAY Pa

Whether the pit caused death or whether it caused damage as NXpp 29

states in 79977 P95. We can have a case by ™2 which is discussing P11 and not
(necessarily) fnm and it is in agreement with >27.

N1B0IN answers:
:991 73 PPINNT 1P NYPN NT PRT MY U

And one can say; that this is not a case of Y11 nxp» *nwdn for the last

one did everything. Before the last one was 7731 7°°0 there was no P*1i 712 since it
was Wny ¥ a0 1ana. It became a Pt M2 only through the 721 7°0 of the NINK;
therefore the NNk did the entire damage.

Summary
The X713 is not satisfied with the example of "% 19w TnR X2 for either it is

not according to 27 or it is discussing 170’2 and not P17l

Thinking it over

1. Is the question 'k2>* 1nY', (only) on the Xn»92 (that the Xn*>92 should have
given other examples) or is the question concerning our 71w (as well); is the
mwn only referring to this case of '™ "o, or are there other cases as well?

2. mooIn explained that the question of X3°2 1M means that we would rather
have an example which is discussing 7?11 (instead of 1in°»n) and follow the
view of °27 (or ¥"27 X2°9X). Seemingly the case of 151 X"12 " 1157 which the
X3 suggests as an example for 2711 NXpPMA "NWIT 1s concerning 7N (not
PP11) and it is not ¥"197 KR!

3. How can we explain that in the X>wp the assumption of m»d0IN was that 70
721 is considered P11 N¥Pna "nwds, however according to the y17°N it is
considered 1 937218

® This is following the view of 27 who maintains that the 21’1 of M2 is for the foul air — Y2271 (only). In a
case where the width is greater than the depth there is no foul 7277, and the 11271 5v2 is Mo even for Pp1.
7 See X"wR.

¥ See > mix 7"M0.
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